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Bouton’s Theorem

O000nmO0OOOO $(a_l,a 2)\cdots,a n)$0 0O $P$ 00O OO0 $$ a 1\oplus
a_2\oplus\cdots\oplus a n=0$$ 000 O

1. 0000000000 $(0,0)\cdots,0)$00 0000000 $0$00 $P$ 00O

2. 00O $(a_l,a 2,)\cdots,a_n)$ O $a_l\oplus a_2\oplus\cdots\oplusa n=0$00 000000000
$(b_1,b_2\cdots,b n)$000 O $$ b_1\oplus b_2\oplus\cdots\oplus b "\ne 0 $$ 0000 $N$ OO
3. 00 $(a_l,a 2\cdots,a n)$ O $a_1\oplus a_2\oplus\cdots\oplusa n\ne 0$00 0 00O O OO0

OO0 $P$00

000 $a_1\oplus a 2\oplus\cdots\oplusa n=k$j0 00 $k$ 0000 00ODO0O0OOO $1$0 O $p$S 00

O00%a l,a2)\cdots,an$ 000000000 %$ai$00 $ais 0000000 $p$ 00 $180

O0000 %$i$0000 $a_i-a_iloplusk$ 0O OO0OOODOOCOO $P$s0ODO

00000 %a_i\oplusk$ O $p$ 0O $0$0 O O $a_i\oplus k<a_i$00 O $a_i-a_i\oplus k>0$00 0 O O

goo

0000 $ai-ailoplusk$ 000000 $i$ 00000 $a iloplusksfO0 OO OO
$(a_1,a_2,\cdots,a_i\oplus k,\cdots,a_n)$[] $$ a_l\oplus a_2\oplus\cdots\oplus(a_i\oplus
k)\oplus\cdots\oplus a_n=k\oplus k=0$$ 00000 $P$ 00O
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SG O [

OO0 $mex(S)=k$($k$ 00D OOOODOO $S$ 000000

$SG$ 0D 000000000000 $x$000000 $SG$ 000
00000000000000000

D00D00D0 $x$00 $x$ 00000000 $S$000 $$sg(x)=mex(S) $$ 000000000000
$S=\emptyset$0 O $sg(x)=0%
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O000O00DoOo $iIcGs I 0inounouoonnDODn $sgs00000%%
sg(x)=mex\{sg(y)\mid(x\rightarrow y\} $$ 0000000 0O[ $$ \begin{cases}
sg(x)=0\Leftrightarrow x~is~P\\ sg(x)\ne0\Leftrightarrow x~is~N \end{cases} $$ 0 00000000
ooon

00 $sg(x)=0$ 00 000000000%x$ 000000000 $sg(y)=0$000 $ys$Q

O0000 $sgix\ne0$ 00000000000 0O0O00O0O $x$000 $y$ O $sg(y)=0%0
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$59(0)=0,sg(i)=mex\{sg(i-1),s9(i-3),sg(i-4)\} $
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0 $sg9$ OO0 0 $$ sg(All)=s_1\oplus s_2\oplus\cdots\oplus s k $$ 0 0 0O $sg(x)=a$j0 00000
$x$OOODODO $y$ OO0 $1,2,\cdots,a-1$[]
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HDU 1848 Fibonacci again and again
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000000000000000000 $S6G$000000000 $5G$00000
000 $SG$ 000 $56$ 00000000
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#include<bits/stdc++.h>
using namespace std;

int f P
bool s ;
int sg ;
void SG
int i=1;i<= pi++

memset(s,0,sizeof(s));
int j=1;j<=p;j++
fljl=i c
sisgli-flj =1;

int j=0;j<= JjH+
I's|j
sglil=];

’

int main
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f =1,f[2]=2;
int i=3;;i++
flil=Ff[i-1]+f[1i-2];

fli]>
p=i-1;
SG();
int m,n,p;
scanf("%d %d %d",&m,&n,&p
Im&& ! n&&! p ;
int ret=0;

ret=sg/m|/”sgin/”~sglp!;
ret) puts("Fibo");
puts("Nacci");

HackerRank Bob and Ben
0ooq

0000000000000 000000 $n$00000 $k$O0 O $k$OOODODO $ISO0O0OOODO
00 $\max(1\Ifloor\fracik\rfloor)$0 000 0000000000000 DOOOO0OOOOOOODODOO
Oo00o0o0DoOoO00ooooOoooooOoOossoooooooooooooooDoooOoo

ooq

0000000 $n$000

O $n=1$ 0O O $s9(1)=19%[]

0 $n=2$ 0 0O $sg9(2)=0%0

0 $n\ge3$00000000000OQ$sg(n)=mex\{sg(n-1),0\}$]
000 $n\ge 3% 00O $sg(2k)=2,s9(2k+1)=1%[]

OO0 $SGs0OOoOoOoonO

000000000000 $k¢0O0OO0ODO

ooq

#include<bits/stdc++.h>
using namespace std;
int main

int t;
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scanf("%sd",&t) ;

t--
int m;
scanf("%sd",&m) ;
int ret=0;
int i=1;i<=m;i++
int n,k;
scanf("%d %d",&n,&K) ;
n== ret”=1;
n== ret™=0;
n&l) ret”=1;
ret”=2;

ret) puts("BOB");
puts(“BEN");

0;

HDU 6892 Lunch
0ooq

O¢$n$ 0000000 $m i$000000000DO0O00O0OOODO0O0OODOOOO0OOOOO0OOO
O00000OO0O0o00oooO stttwwel)s00oo0oooooogoooO

0o[
000000000000$s9(x)=x~000000 0 +[x\%2==01$[]

ooooq

#include<iostream>
#include<algorithm>
#include<cstdio>
#include<cstring>
#include<stack>
#include<vector>
#include<unordered set>
#include<unordered map>
using namespace std;

typedef long long 11;

const int maxn=4e4+10;

const int maxm=1e4+10;

#define ios ios::sync with stdio(false);cin.tie(0);cout.tie(0);
int n,m;

int fimaxm];

int sg(int x
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fix]!=-1 fix
unordered set<int> S;
vector<int> q;
1l i=2;i<=sqrt(x) ;++1i
X%1==0
g.push back(i);
i*il=x) q.push _back(x/i);

’

g.push back(x);
int i=0;i<q.size();++i

ql1]1%2==0) S.insert(0);
S.insert(sg(x/qli ;
int i=0;;++1
IS.count (i fixl = 1i;

int main(void

memset(f, -1, sizeof(f
f[1]=0;
int i=1;i<=30;i++) cout << i << ' ' << s@g(i) << " !

’

ACO O[]

#include<bits/stdc++.h>
using namespace std;
const int N=3.2e4+5;
int pINJ;
bool b[N];
int SG(int x
int ret=0,cnt=0;
X%2==0) ret=1;
int i=1;i<=p[0];i++
X%p|1i==0
X%plil==
x/=plil;
plil!=2) cnt++;

X==

x!=1) cnt++;
cnt+ret;
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int main
int i=2;i<N;i++
'bli pl++p =i;
int j=1;j<=pl[0]&&i*p[]I<N;j++
b[i*p[j]]1=1;
i%pl]jl== ;
int t;
scanf("sd",&t);
t--
int n;
scanf("%d",&n) ;
int ret=0;
int i=1;i<=n;i++
int x;
scanf("%sd",&x) ;
ret”=SG(x);
ret) puts("w");
puts("L");
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$\phi=\dfrac{\sqrt 5+1}{2}$00 $k$ OO OO $(n_k,m_k)$[ $$ n_k=\Ifloor k\phi\rfloor=\Ifloor
m_k\phi\rfloor-m_k\\ m_k=\Ifloor k\phi~2\rfloor=\Iceil n_k\phi\rceil=n_ k+k $$ 00 0O $(n,m)$J0 0 00O
Dooooooono $\Ifloor(m-n)\dfrac{\sqrt 5+1}{2}\rfloor==n?$00 0 0 O O $\Ifloor\sqrt{5(m-
n)”~2HNrfloor==3n-M?$ 0000000000000
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